-FRAMES-SPRINGS-SHOCKS-BUMPERS

84-85
84.85
82-85
82.85
8285
8285
8285

82.84
85

82-84
-82-85
82-86

82-83
82.83
84-85

84-85

82
82
8384
83-84
86
85
82.83
8283
84
84
85
8%
85
85
85
85

82
8285
8285

8284

8285
82-85
82-84
8283
82-83

84-85
8485

85
85
82-83
8485
82-83

8283
82-83

REV. 2-

2-85

71

,MEMBER, FRT CR

BRACE, FRT C/MBR

BRACE-RAIL-REINFORCEMENT, Frame Front Side & Motor

BRACE. MTR COMPT SI RAIL TO BODY
BRACE, MTR COMPT St RAIL TO BODY
RAIL, MTRE COMPT Sl
RAIL, MTR COMPT SI
RAIL, MTR COMPT SI UPR
RAIL, MTR COMPT SI UPR

REINFORCEMENT, MTR COMPT SIDE
RAIL AT STAB BAR & IDLER ARM

MEMBER, FRTCR ....................

BOLT, FRT C/MBR{M12 X 1. 75 X 34) ...,
BOLT, FRT C/MBR{M12 X 1.75 X 115) ...
BOLT, FRT C/MBR (M12 X 1.75 X 89
W/WAX COATING)
BOLT, FRT C/MBR (M12X1.756X31 10.9)
6.172)
BRACE, FRT C/MBR
BRACE, FRT C/MER

BRACE, FRT C/MBR

HOOK, FRT TOW .
HOOK, RR TOW

HOOK, FRT TOW
HOOK, RR TOW

HOOK, FRT TOW
HOOK, RR TOW
PAD, FRT TOW
PAD, FRT TOW
PAD, FRT TOW
PAD, FRT TOW
PAD, FRT TUWING
PAD, FRT TOWING
PAD, FRT TOWING
PAD, FRT TOWING
REtINFORCEMENT, FRT TOW HOOK UPR .
REINFORCEMENT, FRT TOW HOOK LWR

BOLT, FRT STAB SHF LINK
BOLT, FRT STAB SHF

BOLT., RR STAB SHF LK TO U/B
LINK KIT, FRT STAB

SHAFT, RR STAB{18.00 MM)
SHAFT, FRT STAB(30.00 MM}
SHAFT, RR STAB{21.00 MM)
SHAFT, FRT STAB(32.00 MM}

SHAFT, FRT STAB(27.00 MM}
SHAFT, FRT STAB(32.00 MM)

SHAFT, FRT STAB(27.00 MM}
SHAFT, RR STAB
SHAFT, RR STAB{21.00 MM)

BOLT-BRACKET-PLATE-REINFORCEMENT, Stabilizer Shaft

BOLT. RR STAB SHF INSL CLAMP TO
AXLE .. i
BOLT, RR STAB SHF INSL CLAMF TQ
AXLE
BRACKET, FRT STAB SHF
BRACKET, RR STAB SHF TO U/B
BRACKET, RE STAB SHF TO U/B

7.006

. Compartment

F ot e e 20201882 RH CP

F o e ien 20201883 LH CP
[ 20423723 LH CP
PN 20431019 RH CP

F oo e e 20451538 RH CP

F oo 2049032% LH CcpP

F oot e 20431049 1 CP
7.010 . MEMBER, Front Frame Cross

F oo e e e, 14019189 1 CcP
N 14082853 1 cP
7.039 BOLT-BRACE, Frame Front Cross Member
F o i e 14041885 2 CP-
14047913 2 CcP

F o i e 14047914 2 CPOBK
F o i i e 14074097 . 8 CPOB
FP W/H.D.SUSP (F41},Z28 .. 14019453 LH CP

FP W/H.D.SUSP {F41},Z28 .. 14019454 RH CP

F W/H.D. SUSP [F41), 228,

EXPORT{ZK3) ............. 14019454 RH cp
F W/H.D.SUSP{F41), Z28,

EXPORT(ZK3) ............. - 14019453 LH CP
7.068 - HOOK-PAD-REINFORCEMENT, Trailer
FP W/EXPORT (VD1, V70)} .... 14047926 1
FP W/EXPORT (VD1, V70 .... 14047927 1
FP W/EXPORT (V70) ........ 14047928 1
FP W/EXPORT (V70} ........ 14047927 1
FW/VT0 (EXPORT) .......... 14081382 1
FW/VT0 (EXPORT} .......... 14081383 1
FP W/EXPORT (ZK3) ......... 14045447 2 c
FPW/Z2B ... ............. 14045447 2 c
F W/EXPORT {(ZK3} .......... 14045447 2 c
FW/228 ... .. . i 14045447 2 [

F W/EXPORT (ZK3) .......... 14083737 LH

F W/EXPORT (ZK3} .......... 14083738 RH

FW/228 ... .. ......... ‘14083737 LH

FW/Z28 . ................. 14083738 RH

F W/VFO({EXPORT} .......... 14083795 1
FW/NTOEXPORTY .......... 140837968 1

7.240 BOLT-LINK KIT, Stabilizer

F oo 335868 2 CPOBK
F oo e e 10018984 2 CP

F W/H.D. SUSP (F41), Z28/ZK3

(EXPORT} ................. 10018884 2 CP

F oot ir e 464167 2 CPOBK
7.241 SHAFT, Stabilizer )
F W/H.D.SUSP (F41} ......... 10021220 1 CP
F W/H.D.SUSP (F41} ......... 14047916 1 CP
FW/Z28 ... ... ....c...... 10021221 1 CP
FW/Z28 ... v, 14047917 1 CP
FP (EXC 228, H.D.SUSP F4 1), .

FS e 14019268 1 CP
F W/ZK3 (EXPORT), 228 ..... 14047917 1 cP
F (EXC H.D.SUSP F4+1, ZK3

EXPORT,Z228) ............. 14019268 1 cp
F W/TOURING SUSP (FE2) . 10035033 1 CP
F W/Z28, EXPORT (ZK3} ..... 10021221 1 cP
7.242
FP W/H.D.SUSP (F41),Z28 .. 10018208 2 CP
F W/H.D.SUSP (F41) , EXPORT

(ZK3),Z28 _.............. 10018208 2 ° CP
F oo 3994334 1 CPOBK
F W/H.D.SUSP (F41),2Z28 .... 10031386 RH  CP
F W/H.D.SUSP (F41).Z28 .... 10031387 LH cp

WAREHOUSING AND DISTRIBUTION DIVISION OF GENERAL MOTORS CORPORATION -— CHEVROLET—17F

7.006-7.242



